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Q5 A] Fill in the Blanks With given option. ' (5]

a. is the head of Gram Panchayat.

(President, Chairperson, Sarpanch) _

h. The political parties which do not get a majority votes play the role of i o pét‘ties.
(Opposition, Ruling, Suppressing)

¢. In India, state has lowest literacy rate.
(Goa, Kerala, Bihar)

d. The _ is the first citizen of the city,

. (President, Governor, Mayor)

e. Traditional Hindu society was divided into Varnas based on the occupation of an

—1individual.

(Three, Four, Five)

-y

Qo 8y Stawe whetnds die {olluwing statciients are tue or raise, B

a. The problem of dowry system is one of the causes of declining gender ratio.
b. Night blindness is caused due to deficiency of Vitamin C. 4

~¢. The Constitution of India is rigid.
d. Dyslexia is a type of learning disability. (0% 3
e. Gram Sabha was an efficient rural organisation . . ..

Q5 C].Match the columns: ook i )M : e

A ‘B’
a) Secular (1) Spirit of brotherhood

b) Fraternity Sy (2) Village level :

¢) Liberty (3) Equal respect for allt réligion %

d) Gram Panchayat (4) District level

¢) Zilla Parishad (5) Freedom of thought, belief, expression
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